(YIAY) 1 (YIAY), HAULAB -Y-Kontras

3

0

CilCu=(YIBY)(YIAY), normiert fir ( YIAY)
L*=s(Y/Y,)'-d (Y,=100,Y,=28,5=180,1, n=0,

,d=71,7)[
L*=r (YIY)"-d (r = s(Yy/Yn)"=105,88 L* /= -

=34,1) [1b|

.
Y_curve, _IJ 2438

37, Yuij=28, L*uij=50

kij= 1589 (YIAV)I(YIAY) =Vag"
ij=229, L*kij=1 G(Y/AY)/(Y/AY)U
k=1, Ykij=202, L*kij= 1369(Y/AY)/(Y/AY) e
k=0, Ykij=201, L*kij=136,7,(Y/AY)/(YIAY) 135480
| Mygo_a= 0.37495754,14=22

$=20
" o= 0,695 1,008

Law=200cd/f

Anwendungs-
. bereich
10 "Y{=18100 Y

-1 0 1 Y,=28 2 logY

hgw61-7a

a



